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Cuadro 19 (continuación 4)/Table 19 (continued 4)
República Dominicana: tablas abreviadas de mortalidada

Dominican Republic: abridged life tables 
a

1990

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.064 0.061  100 000  6 107  95 353 0.937 b 6 481 461 64.8
1 4 0.002 0.009  93 893   819  373 377 0.991 c 6 386 108 68.0
5 5 0.001 0.004  93 074   358  464 476 0.996 6 012 731 64.6

10 5 0.001 0.003  92 716   324  462 771 0.995 5 548 256 59.8
15 5 0.001 0.007  92 392   645  460 350 0.990 5 085 484 55.0
20 5 0.003 0.013  91 748  1 161  455 836 0.986 4 625 135 50.4
25 5 0.003 0.016  90 587  1 434  449 349 0.982 4 169 298 46.0
30 5 0.004 0.020  89 153  1 775  441 324 0.979 3 719 950 41.7
35 5 0.005 0.022  87 377  1 952  432 005 0.975 3 278 625 37.5
40 5 0.006 0.028  85 425  2 351  421 247 0.968 2 846 620 33.3
45 5 0.007 0.036  83 074  3 018  407 825 0.957 2 425 373 29.2
50 5 0.010 0.051  80 056  4 049  390 157 0.940 2 017 547 25.2
55 5 0.015 0.070  76 007  5 355  366 645 0.913 1 627 391 21.4
60 5 0.022 0.105  70 651  7 385  334 794 0.876 1 260 746 17.8
65 5 0.032 0.147  63 266  9 278  293 134 0.822  925 952 14.6
70 5 0.048 0.215  53 988  11 619  240 890 0.750  632 817 11.7
75 5 0.069 0.295  42 368  12 515  180 553 0.677  391 927 9.3
80 5 0.089 0.363  29 853  10 845  122 152 0.523  211 375 7.1
85 5 0.205 0.656  19 008  12 463  63 882 0.318  89 223 4.7
90 5 0.271 0.760  6 545  4 974  20 289 0.226  25 341 3.9
95 5 0.334 0.831  1 571  1 306  4 590 0.092 d  5 052 3.2

100 ω 0.573 1.000   265   265   463   463 1.7
Mujeres/Females

0 1 0.051 0.049  100 000  4 926  96 191 0.949 b 6 982 823 69.8
1 4 0.002 0.008  95 074   737  378 320 0.992 c 6 886 631 72.4
5 5 0.001 0.003  94 337   299  470 935 0.997 6 508 312 69.0

10 5 0.001 0.003  94 037   272  469 507 0.996 6 037 376 64.2
15 5 0.001 0.005  93 765   426  467 761 0.994 5 567 870 59.4
20 5 0.001 0.007  93 339   623  465 138 0.993 5 100 109 54.6
25 5 0.002 0.008  92 716   718  461 784 0.991 4 634 970 50.0
30 5 0.002 0.010  91 998   954  457 602 0.988 4 173 186 45.4
35 5 0.003 0.014  91 043  1 296  451 977 0.984 3 715 584 40.8
40 5 0.004 0.018  89 748  1 613  444 705 0.978 3 263 607 36.4
45 5 0.005 0.026  88 134  2 251  435 043 0.968 2 818 902 32.0
50 5 0.008 0.038  85 883  3 251  421 288 0.955 2 383 859 27.8
55 5 0.011 0.053  82 632  4 378  402 216 0.935 1 962 571 23.8
60 5 0.016 0.078  78 254  6 082  376 064 0.908 1 560 355 19.9
65 5 0.022 0.107  72 172  7 709  341 587 0.867 1 184 291 16.4
70 5 0.035 0.163  64 463  10 528  295 996 0.806  842 704 13.1
75 5 0.052 0.231  53 935  12 450  238 552 0.722  546 708 10.1
80 5 0.082 0.339  41 485  14 069  172 253 0.548  308 156 7.4
85 5 0.188 0.622  27 416  17 051  94 451 0.346  135 903 5.0
90 5 0.256 0.739  10 364  7 660  32 672 0.243  41 452 4.0
95 5 0.329 0.826  2 704  2 235  7 935 0.096 d  8 780 3.2

100 ω 0.556 1.000   470   470   845   845 1.8

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


